
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

   GMP/FEB23/1 All prices EXCLUDE GST 

AUSSIE SPARES DIAGRAM & PARTS LIST 

AUSSIE GMP PUMPS:  G3TMK-A/ST bare shaft 
Cat ASA8 

REJUVENATION KIT  … SAVE ON BUYING INDIVIDUAL PARTS 

GREJK-G3TMK-STW 
(R740)  

Includes check valve, mech seal, 
counterface, filling cap & trash port 
gaskets (items highlighted yellow) 

$329 

Position 
Part  

Number Qty Description List price 

01a 8246 1 Pump Casing B-2450/1  $2,362 

01b 8925 1 Valve B3XR-A/ST  $492 

01c 8931 1 Inspection Door  $130 

01d 6014 1 Complete check Valve $102 

01e 8937 2 Gasket Door B3XR-A/ST  $20 

01f 6186 1 FLEX. WASHER 33x39x2 $6 

01g 6213 1 Conical Tap 1” Gas  $8 

01h 6209 3 Conical Tap ¼” Gas  $7 

01i 6263 5 OEB Screw M 10x30  $3 

01l 9468 2 Grub Screw M10x60  $12 

01m 8975 2 Complete pin M10 $42 

01n 8269 3 Steel OEB Screw M6x12  $6 

01p 8375 1 Wear Disc B-2451  $311 

02 F619  1 Impeller G3TMK-A “W”  $750 

03a F145  1 Bracket G3TMK-A  $1,103 

03b F138  1 Stainless Steel Shaft  $666 

03c F154  1 Bearing 6305-2RS  $85 

03d F164  1 Bearing 6306-2RS  $128 

03e F165  1 Snap Ring I 72  $8 

04 6353 1 Counterface 27-50-10  $32 

05 8404 1 Mech. Seal 25-47-14  $285 

06 6035 2 Flex. Gasket B 1056  $20 

07 6052 1 OR 133 (24.99x3.53)  $14 

08 6330 1 Key 6x6x15  $6 

09 6326 1 Key B 6x6x25  $7 

10 6178 1 Washer B 2901/2  $6 

11 F476  1 Nut M12x1.75  $15 




